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Transcript for ‘Pedigree Unspoken Assumptions’ video (4 pages)
[White text that says ‘Pedigree Unspoken Assumptions’ fades in and then out of a black screen]
[Background music by Apple Inc. plays and yellow text moves up the screen into the distance at a sharp angle. The text reads: Long ago, there were two students in first year biology struggling with a pedigree question. Andrea and Ria watched the two assigned videos, but were unable to solve the dreaded question six. So, they joined forces on videoconference to try to solve the question. The first trial was figuring out the unspoken pedigree assumptions…]
[The screen is divided into two sections, each with a student in it. These two students are on a video call. The student on the left, Ria, is sitting on a brown chair in a light blue-coloured room. The student on the right, Andrea, is sitting in a beige-coloured room near a window. Both students are wearing glasses and a black sweater.]

Ria: Hey Andrea!        
Andrea: Hey Ria!                                                                                                                                                
Ria: Did you get the mode of inheritance on question six? I tried everything and could not 
figure it out!    
Andrea: Me neither, do you think there is a mistake in the pedigree?
Ria: No, I asked two TAs and they said to think about assumptions 
Andrea: What assumptions?                                                                                                                                           
Ria: The unspoken assumptions that we make
Andrea: Like the condition is rare?
Ria: I think there are more we do not talk about
Andrea: But the youtube videos don't talk about other assumptions
Ria: Maybe they make those assumptions too
Andrea: Ok let's go through the question again and see what we assumed  
Andrea: Should I share my screen?  
Ria: Sure.
Andrea: Ok!

[Silence while Ria shares her screen and pulls up the pedigree. The video of the two students is at the top right corner of the screen, with Andrea’s video on top of Ria’s]
[The screen shows a Google document entitled Question6_Zoom_video_pedigrees at the top left corner of the screen. On the document itself, the text at the top reads: Genetics Homework 2, Page 4 of 4. The next line says Question 6 in a bold font. The next line reads: The pedigree below shows the genealogical relationships among members of an extended family; some of them (represented by filled-in symbols) are affected by a mild, relatively common, hereditary condition of the skin. Below this text is an image of a pedigree that has four rows, each with circles and squares that are either filled in or unfilled.
Below the pedigree, the text reads: a. What mode of inheritance model for this skin condition best fits the pedigree data? b. Justify your answer to part a. by describing your logic and reasoning, and any evidence that you used. Please also choose gene and allele symbols and infer the genotypes of as many family members as possible.]

Andrea: So, what modes of inheritance did you try out? I just tried autosomal recessive, autosomal dominant, x-linked dominant, and x-linked recessive.
Ria: I also tried y-linked but it can't be because some of the females have it.
Andrea: Oh, here's an assumption, so we assume that all male individuals in the pedigree are XY and all females are XX
Ria: Ok, let me put that one down.

[Ria scrolls to the next page of the document, which is blank. Ria typing unspoken assumptions in an underlined font. Below this line, the text is in the colour red and reads: 1. All males are XY and all females are XX in this pedigree]

Andrea: But wait, what, um, if we assumed that it would be only one of these modes, what if it was not simply dominant or recessive like heterozygotes had a different phenotype? 
Ria: Let me write that one down too

[Ria typing below the previous line, the text is in the colour red and reads: 2. Mode of inheritance can be autosomal recessive, autosomal dominant, x-linked recessive, x-linked dominant, or y-linked]

Andrea: You know what though? We don't really have any evidence against this assumption here. There are only two phenotypes... 
Ria: But look it says MILD condition of the skin, so maybe some people have the affected genotype but the condition is so mild they never got diagnosed.
Andrea: Ok that's a good point. So the assumption would be… everybody with the affected genotype has the affected phenotype?
Ria: Or more generally, everyone with a certain genotype has the exact same phenotype.
Andrea: Okay, that's good. Write that down.

[Ria typing below the previous line, the text is in the colour red and reads: 3. Everyone with a certain genotype has the exact same phenotype]

Andrea: To build on it, I think I also assumed that there are truly only 2 phenotypes and they are very distinct and impossible to miss if someone is affected
Ria: The videos assumed that too they talked about affected and unaffected as discrete, clear-cut phenotypes

[Ria typing below the previous line, the text is in the colour red and reads: 4. There are only two phenotypes, ‘affected’ and ‘unaffected’, and they are very distinct and unmistakable]

Andrea: Okay, that's a lot of assumptions. Should we try the pedigree again?
Ria: Wait, I have one more. We always start with the assumption that it's just one gene with two alleles, there could be multiple genes involved and affected people could have mutations in different genes.
Andrea: Oh, that's a good one!

[Ria typing below the previous line, the text is in the colour red and reads: 5. The condition is caused by mutations in just one gene, the same for everybody]

Ria: And look, if this assumption is false, it may actually explain why there are different modes of inheritance in the two branches of the family.

[Ria scrolls back up to the first page and uses the cursor to circle the right side of the pedigree and the left side of the pedigree]

Andrea: Okaayy, so I guess there's one branch here and one branch here.
Ria: That's right.                                                                                                                                                          Andrea: Makes sense.

[Ria stops sharing the Google document and the screen returns to the two students on the video call]

Andrea: Wow, it really wasn't so bad.   
Ria: No, but what I am worried about is that if they give us something like this on the final at what point do you start thinking that the assumptions might not apply?
Andrea: I think that you should first try it out assuming all the assumptions 
Andrea: and if it really doesn't work, you can start reconsidering.  
Ria: Okay… So, do you want to try out the pedigree again and see what unspoken assumptions may be false here?
Andrea: Okay, yeah, let's try it out on our own and touch base in 20 minutes or so.
Ria: Okay! See you then!

[Andrea and Ria wave goodbye and the screen fades to black]

[Background music by Apple Inc. plays and white text scrolls over a black screen. The lines read from top to bottom: ‘Credits’, ‘Student 1 Ria Goel’, ‘Student 2 Andrea Jackman’, ‘Director Ria and Andrea’, ‘Editor Ria and Andrea’, ‘Producer Pam Kalas, Andrea, Ria’, ‘Screenwriter Pam, Andrea, Ria, and ‘This work was partially supported by a UBC Skylight grant and the UBC Work Learn Program’. In the lower left-hand corner, the creative commons BY-NC-SA license is shown. This is a gray rectangle with a thin black outline and a thick black line at the bottom and four symbols within white circles with black outlines. The symbols are from left to right: the letters ‘CC’, a pictogram of a man, a dollar sign with a slash through it, and a circular arrow. In the black line at the bottom of the rectangle the letters ‘BY’ are below the pictogram of a man, the letters ‘NC’ are below the dollar sign with a slash, and the letters ‘SA’ are below the circular arrow.]
 

